netDimmer

CUVMhWN=

netDimmer - A (gray)

12=LEDG1_0
11=LEDG1_1
10=LEDG2_0
9= ---
B= ---
7=12-36VDC

1=LEDG1_0
2=LEDG1_1
3=LEDG2_0
4=---
5=12-36VDC
6=12-36VDC

netDimmer - C (green)

12=LED3G_0 1=LED3G_0
11=LED3G_1 2=LED3G_1

10=---

3=---
f=---
5=12-36VDC

7=12-36VDC 6=12-36VDC

netDimmer - D (brown)

12=LEDGO0_0
11=LEDGO_1
10=LEDG2_1
9=---
8=---
7=12-36VDC

1=LEDGO0_0
2=LEDGO_1
3=LEDG2_1
4=---
5=12-36VDC
6=12-36VDC

netDimmer - B (black)

12=Ground
11=Ground
10=---

1=12-36VDC
2=12-36VDC
3=---
4=---



